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Answer ALL questions.

The box lists some substances.

air bromine carbon copper

nitrogen oxygen sulfur

glucose

water

Choose substances from the box to answer these questions.

Each substance may be used once, more than once or not at all.

(a) Name a metallic element.

(b) Name a compound.

(c) Name a mixture.

(d) Name an element that is a gas at room temperature.

(e) Name an element that forms a basic oxide.

Coer T

(f) Name two elements that are in the same group of the Periodic Table.

G(MCJ:)SC / wcdcf -

| & Sldir
O’{Dg\ Mpr

(Total for Question1=6 marks)
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- 2 Astudent does a chromatography experiment using ink 1, ink 2, and
| three known dyes A, B and C. The student uses water as the solvent.

The diagram shows the student’s Chromatogram.

pencil line

R

N

™\

ink
1

ink
2

dye
A

dye
B

dye
C

solvent front

(a) Deduce what conclusions can be made about the composition of ink 1.

\r-.\( &

(b) (i) Give one conclusion that can be made about ink 2.

- | ) (2) Ae
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(ii) Suggest how the student could change the experiment to find the
composition of ink 2.

(c) Calculate the R; value of dye C, giving your answer to 2 significant figures.

K; o d steats Ve 5 W

Aishmce mored by Slvent

= 5.5
g?dﬁ 0. &5

R value = .. O 6 1

_(Total for Question 2 =7 marks,lj fJ)
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3 Crude oil is a mixture of organic compounds.
Most of these compounds are members of the same homologous series.

(a) State the name of this homologous series. |z

(b) An industrial process is used to separate crude oil into fractions. z
(i) The process depends on a difference in a property of the fractions. :j
What is this property? i 1

boiling point
density !

melting point

O 0O O X
O N ®w »

solubility

(i) The boxes give some uses of fractions and some names of fractions.

Draw one straight line from each use to its correct fraction.

Use Fraction

| bitumen

fuel for aeroplanes + diesel
|
| fuel for ships + A + fuel oil | 9
/ | O
/ k=
| surfacing roads +/ t gasoline ‘
kerosene

A
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(c) Fuels obtained from the fractions may contain impurities.

Explain how the combustion of a common impurity in fuels may cause an
environmental problem.

. \‘E’l” BHREER ogy Llo (ﬂ“ﬂ ‘“A“"‘ 0‘”)@\ to {L‘{W\SC))_LJA(L

Co dihe 0 Gt o @m oo G

(d) Some of the fractions contain long-chain molecules which are not very useful.

(i) Give the name of the process used to convert long-chain molecules into more
useful shorter-chain molecules.

(i) Give the catalyst and temperature used in the industrial process to convert
long-chain molecules into shorter-chain molecules.

g \\(L\ (D\ u.l‘w* e

catalyst ..

temperature Gd*'damc

(iii) When C;3Hy is used in this process, three different molecules are formed.

Complete the equation for this reaction.

G GHy

CisHyg =& CgHyg +

(Total for Question 3 = 13 marks) -
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-4 Wheniron is leftin damp air, rust forms on its surface.

E
|
{
1
|
I

(@) (i) State the chemical name for rust.

Myptes o che

(i) Explain how a barrier method prevents rusting.

(;{Ikk\\n ;Q\,\_g, \(D(\ i‘\ @Q’mb 01 ()f plOStL gh,fg (,U.\r (I/\C' {:\)C&f/
fo %‘% b i ey g G o Gt st

(b) A student uses this apparatus to find the approximate percentage by volume
of oxygen in air.

rubber bung
[ damp iron wool

go-__— graduated glass tube

A 70-] 4

60—

50—

40—

A O A

Cem‘: U Sk

VANV SIHINFILMMIONGa

Mkl Mo

TN CILYT RIE DD IMAR

ITIMM TON O

VAMY SIH TN



This is the student’s method.
* place a graduated glass tube in a beaker of water

* place some damp iron wool and a rubber bung in the top of the tube

2 Ml

THIS AREA

INT

* record the reading of the water level in the tube

* leave the apparatus for a few days

o
I

‘DO NOT WRIT

i
1R

* record the reading of the water level again

The diagram shows the readings at the start and at the end of the experiment.

| M ’\‘—/\/_
—330 —J 40
& | = 20 e 30
| = =
—1 10 —1 20
./-/\"__l _,J\-/—‘
start end

(i) Use the readings to complete the table, giving all values to the nearest 0.5 cm?.

mn

- reading at start in cm?

|
i 1 i T
' reading at end in cm? i 3. & |
[

I_
i , 3
| volume of oxygen used in cm

W (i) The student uses these results to calculate the percentage by volume of
ol | oxygen in air.

W Suggest why her calculated value is lower than the expected value.

il | QM Oxwon W reaCle? .
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(c) The student repeats the experiment using the same apparatus.
These are her results for the second experiment.
volume of air in tube at start = 80.0cm?
reading at start = 20.0
reading at end = 35.5

Use the results to calculate the percentage by volume of oxygen in air.

\/@Z) 5 B BaTez 5D O

o VG5
. OL_ o AN = X 120

@

= \4.133s

| » |
i percentage = “Ll@\( %
| L _____ (Total for Question 4 =9 m#tks)gmﬁ}_n_
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5 A student uses this apparatus to investigate the effect of heat on different solid
metal carbonates.

metal carbonate boiling tube

/ } delivery tube *
] 2
B ) i

By

) - =

/ test tube

heat |

YaNY I N

\ limewater

This is the student’s method.

° use a spatula to put some metal carbonate in the boiling tube

fit the delivery tube into position

* pour some limewater into the test tube

start a timer and immediately begin to heat the metal carbonate
* record the time when a change first occurs in the limewater | ’

The student repeats the method using different metal carbonates.

When a metal carbonate is heated a reaction sometimes occurs. | i

The equation for the reaction is S

metal carbonate — metal oxide + carbon dioxide

RO i (AR
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(a) State the name given to this type of reaction.

(b) State two variables that the student should control in this investigation.

O N

1 Pk or ket .Cafm
-;32 \_3% \/’&W\"z 0( ‘\w\w.)c\h/
| .

| (c) Suggest why bubbles appear in the limewater immediately after heating has
started but before there is any change to the metal carbonate.

Afﬂ\w@uwaﬂcﬂhis@w%‘““

(d) Explain the purpose of limewater in this investigation.

\,\)‘\2/‘ Umw \,’ti/ j(_umS Gbotcg J( S[/\ua, CO ( lﬂ% LL en ub,fcc_,,}

W, .-



(e) The table shows some of the results for the student’s investigation.

Tirne t’éké}i for anyﬂ

Metal carbonate Colour change of solid s s
. change in limewater

calcmm carbonate ; remalns whlte 90 seconds 1

sodlum carbonate ; remains wh|te ,j no change 1

l copper(ll) ca rbonate ‘ 50 seconds

(i) State the colour change that occurs for copper(ll) carbonate.

from 3‘{(’\ to Ha(’k

(i) Give a chemical equation for this reaction of copper(ll) carbonate.

(f) (i) There s a relationship between the position of a metal in the reactivity series
and how easily the metal carbonate reacts when heated.

Use the student’s results and your own knowledge to deduce this relationship.

e (A,,,e/ the Mebad Bon Bu achily ueg By puac OS‘J e
{‘vul( Joo Q-J‘n?:\cuv-t‘ &z(w\ﬁnﬁo

(i) State how you should extend the investigation to see if your deduction is correct.

Jﬂwvekgh*sjfuﬂcl((wbw* Cases.

(Total for Question 5 = 12 marks)
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6 Zinc reacts with dilute hydrochloric acid to form hydrogen.

(@) (i) Give a chemical equation for this reaction.

(ii) Give a test for hydrogen gas.

(b) A student investigates the reaction between pieces of zinc and dilute hydrochloric acid.
In each experiment, he uses the same mass of zinc but a different volume of the acid.
He collects the hydrogen and measures its volume in each experiment.

The graph shows the student’s results.

X
X
X

120

100

80 -
Volume of
hydrogen
incm?

60

40

20

0 . I 1 | | | - 1
0 20 40 60 80 100

Volume of dilute hydrochloric acid in cm?

A0 A
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(i) Use the graph to find the minimum volume of acid needed to react with all of
the zinc.

:d | S a/(_’{‘ﬂ-)

(i) The student repeats the investigation, using hydrochloric acid of double the
original concentration.

INTHI

-
| =
.

Determine the volume of hydrogen that would be collected using 15 cm? of
this acid.

Show your working on the graph.

L—'l) Qlud\[’\‘._hy\b ko UQ\D 'SOQ,;{ ()C aGe OC ‘ :
I r\NM\Q C):r.ur\ Yk on. volume:7q cm? |

‘DO NOT WRITE

(c) Explain how increasing the concentration of the hydrochloric acid affects the rate
of reaction.
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(d) The rate of reaction could also be affected by changing the temperature of the

B babg Medn of e pias . Ths (g

hydrochloric acid, or by using a catalyst.

Explain one other way in which the rate of reaction between zinc and
hydrochloric acid can be affected.

(Total for Question 6 = 12 marks)
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7 The formation of ions and covalent bonds involves electrons.

The table gives the electronic configurations of atoms of hydrogen, lithium and chlorine.

Element Electromc conflguratlon of atom !
|

11 hydrogen ‘ 1
— S . ——

lithium i 2.1

l chlorine . 2.8.7

(a) Describe the different roles of electrons in the formation of
e jons in lithium chloride

|
‘ e covalent bonds in hydrogen chloride
|

=% Qﬁfmw of Wam Chlaoh S“/S e Wi o G gy |

ru(mcm ( Cs.hhj\‘c lJW.lS N ['\:)Clmou\ (,DAL-.’Y\(LQ SLUh A :er n_(
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(b) Explain why lithium chloride has a higher melting point than hydrogen chloride.

Refer to structure and bonding in your answer.

fpopn Chticte 1t o Smple mdecule/ Guchge i woal smidecier |
%“’*3 hbween B, peades Wnidh Peguate (g 4g ey NN !

(Total for Question 7 = 8 marks)
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- 8 (a) (i) Organic compounds can exist as isomers.

Explain what is meant by the term isomers.
L{J

‘\JLM\ Vi o Se Mdeade W”‘i&m b b \:d, vok  displeed

| Q,(C'\ulgu, ‘

| (i) Organic compound Q reacts with bromine, without the presence of
ultraviolet radiation, to form the compound C,HgBr,

Draw the displayed formulae of two isomers of Q.

",T:»
"'\
l
i .
~ - |
|
s~ (L=

(b) An acrylic polymer can be formed from molecules with this structure.

H CH,
AN 7
=C

s N
H COOCH;

(i) A student describes the molecule as an unsaturated hydrocarbon.

Explain whether this is a correct description.

The ‘“"*“‘“ sl iSr‘\ S, ”ﬁ“‘"w% : ““‘JUMC

(i) Name the type of polymerisation that occurs in the formation of the polymer.

22
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(iii) Complete the equation for the polymerisation reaction.

G

H CH;,

N /
n =C —_— Q C—
/ g

(c) Octane is a compound in petrol. \
i The equation for the complete combustion of octane is
| CeHis + 1250, — 8CO, + 9H,0

[ (i) The fuel tank of a car contains 50.0dm?* of octane.

tank undergoes complete combustion.

{ [mass of 1dm? of octane = 700g]

: | (\Y‘\(}\gg 0( OC"}\'\’W'— = SO L 908 = SS 05 i)

;M/ Qa0 . 362 O('ﬂ‘o\
: | & (O(\k@ﬂe) - i i -

-

802)1-\3(

h COZ) ¥ % 307 = W36 oo

: 3 i LCO > (\’Lu&(\t)} OLE:

= \OF O4o- \3 SU

= |0F. G0l Isky

(ii) State an environmental problem caused by carbon dioxide.

H COOCH; \ ( O?«\C}(S

N

Calculate the mass, in kg, of carbon dioxide formed if all the octane in the fuel

\of

Mass = ...

| : kg
Sl &)

(Total for Question 8 = 15 marks)

L .
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9 Lithium, sodium and potassium are the first three elements in Group 1 of the Periodic Table.
(a) Suggest why these three elements are all stored in paraffin oil.
[ 2 e

1
Joes
)
(2
R,

-—

L o

(b) Caesium, Cs, is below potassium in Group 1.

(i) Give a similarity and a difference between the reactions of potassium with water
and caesium with water.

DO NO

i aTa

similarty. Q{72 ey on G Weee od fduce o flame.

= | (ii) Give the chemical equation for the reaction between caesium and water.

‘.:_..Z:
W
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B
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(c) A student investigates the temperature change in the reaction between dilute acids

5‘\\( kC\\,_ SU\(,& TN - '\.\bhmn ;MR OCaede (:t‘-“«-\q:rai\‘.rtr

(\"‘""‘“" L‘L“ E‘ff”f" ki O{ N O“’f ) C’wu ".i', RS e Gue as o

d((u\“ \ vf»b of B “*"

and solutions of Group 1 hydroxides.

He uses this apparatus.

/ glass beaker

| polystyrene cup

This is the student’s method.
* measure the temperature of 50cm? of hydrochloric acid
* pour the acid into a polystyrene cup
e add 50cm?® of sodium hydroxide solution to the acid
e measure the maximum temperature of the mixture

(i) Suggest what could be added to the apparatus to improve the experiment.

(ii) Explain a change to the method that would improve the accuracy of the experlment
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(d) These are the student’s results.
temperature of hydrochloric acid = 19.9°C
maximum temperature of mixture = 26.5°C
(i) Calculate the energy change, Q, in joules for this reaction.
[mass of 1.0cm? of mixture = 1.0q]

[for the mixture, c = 4.2 J/g/°C]

= o0 (5D (2:S AR
s THL3

b = Z'?i)c‘

(ii) In the student’s reaction between hydrochloric acid and sodium hydrc»qde \ {\))
0.050 mol of water forms.

Calculate the molar enthalpy change, AH, in kJ/mol for this reaction.

f\'ﬁvw}%&\\
~ 232X
A i -55.
1 S AH= .. ki/mol | '

(Total for Question 9 = 13_mar_ks?)
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- 10 This question is about salts.

(a) Soluble salts can be prepared by the reaction between a metal oxide and an acid.

£

(b) (i) A studentis given 50cm? of dilute sulfuric acid and a bottle of solid copper(ll) carbonate.

/: 10

‘; . \/\'3\\-\

The equation for this type of reaction is
metal oxide + acid — salt + water

(i) State the name given to this type of reaction.

I\) enkals o o0 -

(ii) State, in terms of protons, what happens in this reaction.

Describe the method that the student should use to prepare a saturated
solution of copper(ll) sulfate.

In your answer, refer to the pieces of apparatus that the student should use.

qrﬂ {“
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(i) The student produces dry crystals of hydrated copper(ll) sulfate from the

saturated solution.

He calculates that 6.40g of dry crystals should be formed.

The mass of dry crystals he actually obtains is 1.80g less than he calculated.

Calculate the student’s percentage yield.

Give your answer to one decimal place.
Gy-1Y
51 (,'I 5 : : X L.QO

iy

percentage yield =

T .
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(c) (i) Gypsumis hydrated calcium sulfate.
A sample of gypsum contains 79% of calcium sulfate by mass.
Calculate the value of x in CaSO,.xH,0
[M, of CaSO, =136 M, of H,0 = 18]
Gso,  ©

¢ ) n
T‘{\ (48.'S -q(:‘\ |O(j 16 _.L| C'\
[ e—"

™ \ -3)[(' ‘ %
» 0.0 W63

-

O S8

Ceneliest 0S8

" \ \ T

—

A =2 N |

(ii) Describe a test for calcium ions in the sample of gypsum.

(Total for Question 10 = 15 marks)
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